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Question Number : 1 Question Id : 7155054312 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let D be the domain ot the tunction f ( 1;) = gIN !

4

\

log,.
T =dx

It the range of the function g : D — R detined by g(x) = x— [x]. ([x] 1s the greatest

integer function), is (0. P), then @ +— is equal to

Options:

71550513611, 45

71550513612. 46

71550513613. 135

71550513614. 136
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Question Number : 1 Question Id : 7155054312 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

l'g - . _\’l |
HIAI Wl Ef(_,r):gi]]_" [Ugh[%i FIUAD el e
LU -5 )
o(x) = x — [x]. ([x] TEWH QU Ba ), TR IRYINT B g : D — R DI

iR (o m%,a“rahgw%;

Options:

71550513611, 43
71550513612, 46
71550513613. 133

71550513614. 136

Question Number : 2 Question Id : 7155054313 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let a. b be the roots of the quadratic equation +* +\/6x+3 = 0. Then
23 23 |4 i
a +f +a + .

- ‘QH = ‘{?m 15 equal to
a "+ +a + 4

Options:

71550513615. @

71550513616. 72

71550513617. &1
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71550513618. 728

Question Number : 2 Question Id : 7155054313 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
23 pd | 4 14
_'l. == ; - —I— _,l_ 4
AT T GHERU | fori3-0 P Hd o, fol Tl = P ta +p

le+,ﬂ(flﬁ+ﬂlll+!]”

TN o
Options:

71550513615. @

71550513616. 72

71550513617. &1

71550513618. 729

Question Number : 3 Question Id : 7155054314 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| | 1 27 [4 2]
Let A= 51 .1t B = | A . then the sum of all the
0 1 -~} <] 1 1 |
i | ; 4 L }
50)

X : "
clements of the matrix E B is equal to
n=1

Options:

71550513619. 50
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71550513621. 100

71550513622. 125

Question Number : 3 Question Id : 7155054314 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

N 1
O-TA=| 51 glafle B =

3aad| &1 di &

Options :

] . 50
A b 5, dl ZB”%?H‘J?{

— - n=I1

v,

[
[ —
—

71550513619. 50

71550513620. 73

71550513621. 100

71550513622, 125

Question Number : 4 Question Id : 7155054315 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of five digit numbers, greater than 40000 and divisible by 5, which
can be tormed using the digits 0, 1, 3, 5. 7 and 9 without repetition, 1s equal to

Options:

71550513623. 72
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71550513624. 96
71550513625. 120

71550513626. 132

Question Number : 4 Question Id : 7155054315 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

[T 9R1g R &, 3i1 0, 1, 3, 5, 7 YT 9 & WA T U 3] ol JJF13, Sl
40000 S §51 B 9UT 5 I ldyrsg &, @ 9= ©.

Options:

71550513623. 72
71550513624, 96
71550513625. 120

71550513626. 132

Question Number : 5 Question Id : 7155054316 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sum, of the coethicients of the tirst 50 terms in the binomial expansion of

(1— )0 s equal to

Options:

Q’E'C
715350513627, 48
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_ 99
/1550515628. 49

“:ILE_
/1550513629. ~50

_ 1016,
/7/1550513630. 50

Question Number : 5 Question Id : 7155054316 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=

(1-x)19° % fgue YHR | UYH 50 U o 0P| BT T SIER ©

Options:

S"E'C
71550513627, ™49

99
71550513628. 49

71550513629. 50

1016
/71550513630. 50

Question Number : 6 Question Id : 7155054317 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| n__ | » | n_ . 1023 .
Gyt — Loy FatT Gt HL” — ——— then n 15 equal to
n+1 1 2 | 1 ()

It

Options:
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71550513632. 7
71550513633. &

71550513634. @

Question Number : 6 Question Id : 7155054317 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

| n " | (023
Erﬁ:‘{— 3 +l C__ ]+..++l C,+"Chp=—r l 2 din RIE B
n-+1 2 10

Options:

71550513631. 6
71550513632. 7
71550513633. &

71550513634. ©

Question Number : 7 Question Id : 7155054318 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let C be the circle in the complex plane with centre 7, = ]—[] +3i) and radiws r =1, Letz; = | ~1and the

complex number z, be outside the circle C such that |z, - ZD‘ |2y - zg| = 1. 1 z, z; and z, are collinear, then

&collegeduniaﬁ

S

the smaller value of |z, < is equal to




o |

71550513635.

o |

71550513636.

7
71550513637. 2

13
71550513638. 2

Question Number : 7 Question Id : 7155054318 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT A A H U C BT Px 7, = %{11 +3i) AU B =181 AMT 2, =1 +1

& TUT G & STEX AT G 2, SHTBR S B |2y — 2| 12— 2ol = 1 B1 TR 2,
z, AUl z, TR §, Tl |z,|* DT BICT HH 6K

Options:
3
71550513635, 2

5
71550513636. 2

7
71550513637 2

71550513638.
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Question Number : 8 Question Id : 7155054319 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

; | n° +3n .
Let < a, = be a sequence such thata, +a, +...+a, = —, It
. (n+1)(n+2)

| () 'i
ZEZ - = P\ P> P3Py Where py. pa...... Py are the first m prime numbers, then
=1 Hy

m 1% equal to

Options:

LMy

71550513639.

71550513640. 6

71550513641. 7

71550513642. &

Question Number : 8 Question Id : 7155054319 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e, = 43
T < a, > U 3HH ¢ 5P g +a, +..+a, x ”l}:{‘” 3 glafe
- M- H+4Z

01 ] - _ o =
ZEZ: = PPy PyePpy %’, OIBT Pz Poseees Py AUH m HHOY %E{EEIIL{_ET, dl m
k=] o)

FER o
Options:

71550513A39 3
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71550513640. 6
71550513641. 7

71550513642. 8

Question Number : 9 Question Id : 7155054320 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

’ a,lliil‘ij Y
It the loecal maximum value of the tunction f ( 1) - V3e xe ({] EJ

| . aj
LkZz-?m‘l.ﬂfi, 2

-k AN AT
. 18 —,then(iJ +.A + k% is equal to

e e e

Options:
71550513643, ¢- + ¢° + e!!
71550513644, ¢ + ¢° + ¢1"

71550513645, & + & + e

71550513646, & + % + ¢

Question Number : 9 Question Id : 7155054320 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

71550513643, e° + ¢° + ¢l!

6 _10

~
-
i

71550513644. ¢

11

71550513645, ¢ ~ & + ¢

11

Lt

71550513646. ¢ Te T e

¢

T

2

J

B R 3=dy HHE%_.EF[
e

Question Number : 10 Question Id : 7155054321 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: < ; .
The area of the region enclosed by the curve y = x~ and its tangent at the point

(—1.-1)1s

Options:

19
71550513647, 4

23

71550513648. 4

27
71550513649, 4

715650513AKN

~
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31

4

Question Number : 10 Question Id : 7155054321 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ash y =x° dUl 5D fdg (—1, —1) TR T @1 ¥ R & BT &9%d o:

Options:

19

71550513647. 4

23

71550513648, 4

27
71550513649, 4

31
71550513650. 4

Question Number : 11 Question Id : 7155054322 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lety=y (x), >0, be a solution curve of the difterential equation (1 + ¥ dy=y(x-y) dx. Ify (0) =1 and
1[ ?-.x.ffﬁ_] = f}. then

Options:

71550513651.
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P EE‘(S \E)

71550513652.

of =¢ (5+'\./E)

71550513653.

-]

AP = E’[3 -I-Eﬂ}

71550513654,

Question Number : 11 Question Id : 7155054322 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OET o GHIRRT] (1+ IE]_ dv=y(x—y)dcPIUP gdddd y=y(x), y=0 gl
afe y (0) =1 U y(2v2)= g &. 1l

Options:

71550513651,

E‘Sﬁ ZE‘(E-I—-\!'E)

71550513652,

71550513653,

-}

' —e(34242)

71550513654.

L]
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Question Number : 12 Question Id : 7155054323 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(23
Let pl s LI

\ wﬁﬁ

PQ and RS be mutually perpendicular and pass through the origimn. It

| | 2, | |
| ¥ 5 =, where p and g are coprime, then p + g 15 equal to

(PO)" (RS)" 4

. Q. R and S be four points on the ellipse 9x + 43* = 36. Let

Options:

71550513655. 137
71550513656. 143
71550513657. 147

71550513658. 157

Question Number : 12 Question Id : 7155054323 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
(23 6 )

AT U 9x” + 47 = 36 W IR {63 p ,f
" " g

TEREGS PQ YT RS YRENR Tiaad ¢ dYl Hafeg 9 I old 6| dfa

Q.RAUTS T HMI

! L et p aul ¢ SReyST & ) SRR ¢
——— = Ul g S HISH 6. dl » + :
(poy (ks o0 o
Options:

71550513655. 137

71550513656, 143
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71550513658. 1537

Question Number : 13 Question Id : 7155054324 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

/ \
- . T3 |,. : u .
If the point r;r;% lies on the curve traced by the mid-points of the line

\ R

'y
d
# |

i
7

" -

segments of the lines ycos 6 +y s 0 =7, g between the co-ordinates axes.

then o 15 equal to
Options:

71550513659, —7

71550513660, —7v/3

71550513661. 7

71550513662. Tw@

Question Number : 13 Question Id : 7155054324 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a7 3@ x cos 8+ ysin 8 =7, o< 0,% | F FETP il & o= T@RIS! & 7

|
s

y

b
T3l gRT §- dsh I TP [dg (1',?:3 g, dl o TR &;

\ =

Options:

71550513659, —7
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71550513660, — 73

71550513661. 7

71550513662, 7v3

Question Number : 14 Question Id : 7155054325 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T - T "
Let the plane P: 4x—y + 2= 10 be rotated by an angle = about 1fs lime of mtersection with the
plane x +y—z=4. It v 18 the distance of the point (2. 3 —4) from the new position of the plane P. then 350 15
equal to
Options:

71550513663. 83
71550513664, U
71550513665. 105

71550513666. 126

Question Number : 14 Question Id : 7155054325 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

O AT P: 4x —y+ 2= 10 DI SHD], JHAA x + v —z = 4 § Uld=d g 1@ &
T = :
U8 ~@ PIUT db YHMII SId1 1 A< fig (2. 3, —4) B G P 3l -5 AU
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Options:

71550513663. 83
71550513664, 20
71550513665. 105

71550513666. 126

Question Number : 15 Question Id : 7155054326 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
X+3 y+4 z-a

3 1 -2
be coplanar. If the point P(a. b, ¢) on [ 1s nearest to the pomnt Q(—4, -3, 2), then

lal+ b +|c| is equal to

Let the lines /, and [ : 3x+2y+z-2=0=x-3y+2z-13

Options:

71550513667. &

71550513668. 10

71550513669. 1.2

71550513670. 14

Question Number : 15 Question Id : 7155054326 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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5 24 Z -
J-E|"||‘!'l'{5ﬂ_q:" l+h—“]$4— HWEMH'-I-"'L— —A=0=x—ay tLr—1>

HSﬂrﬁﬁ%lHﬁJ wﬁgm b c) g Q4,~3.2) P Pvean 2. @
la| +|b] +|c| SRR E:

Options:

71550513667. &
71550513668. 10
71550513669. 1.2

71550513670. 14

Question Number : 16 Question Id : 7155054327 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let a, b, ¢ be three distinct real numbers. none equal to one. If the vectors

o, o, o, o, - o~ - i -"'- 1 1 ] =
ai+j+k: i+bj + k and j+j+ ck are coplanar, then I + - + I 15 equal
— ﬂ e p— fl

1o

Options:
71550513671. —1
71550513672. 1

71550513673. —

71550513674. 2

Question Number : 16 Question Id : 7155054327 Question Type : MCQ Option Shuffling : Yes Is

- . - __a®_ . onA=__ __ & _ = ... - KRB _ - _ 1 __ _1_ a _ .. _ R _ _._ _ ™ __ __ _ __ _ . wmgmse < ARl A wmmj * |§ w=mgms 2__ == =8 A mnEm*_ _*__ __ ____
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O a. b, ¢ diF (49 IRkId® S3010 § 94T 58 9 ®ig U U & aeie ﬁm

I ]
7S WET gis+ k. i+b] + &k U 4]+ ck FETOA &, o TR ]

l—-a 1-b l1-c

aXIEN B
Options:

71550513671. —1
71550513672. 1
71550513673. —.

71550513674. 2

Question Number : 17 Question Id : 7155054328 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

let AeZ,a= /Lf + j ~ k and b =3/ — j+ 2k. Let ¢ be a vector such that

§ .

(@+b+¢)xé=0,a-¢=—17andf.5=—20. Then|c x (A1 + j+k)

Options:

71550513675. 46

71550513676. 49

71550513677. 33

71550513678. 6.

a
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Question Number : 17 Question Id : 7155054328 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g =

A eZ,d=Ai + j-k T =3i— j+2k T AF ¢ & forg

_.Ei+5+§ xt?zﬁ,fi.ﬁ:E_]Fﬂiﬂg_g:_mglrﬁ C X ,gs_fﬂgnj”;
(a+6+2) : )

FER o
Options:
71550513675. 46
71550513676. 49

71550513677. 33

71550513678. 6.2

v,

—

Question Number : 18 Question Id : 7155054329 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two dice A and B are rolled. Let the numbers obtained on A and B be o and p respectively. If the van
P

0—[1s ; where p and ¢ are co-prime, then the sum of the posttive divisors of p 1s equal to

Options :

L
—

7155051367/9.

71550513680. 36

71550513681. 48

1ce of

~

S
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71550513682, 7.2

Question Number : 18 Question Id : 7155054329 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

&l O A JYUTB ] Wild & | H1FT A 9YT B TR U S&AT0 o dYUT B 8| OfS o — B
’, y " %

Ga) Hﬂmi—f%ﬂﬁpﬁ%ﬂq U 8, dl p B YATHD US| BT IH aea

g

Options:

71550513679. 51

71550513680. 36

71550513681, 48

71550513682. 7.

Question Number : 19 Question Id : 7155054330 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a triangle ABC, 1f cos A+ 2 cos B + cos C = 2 and the lengths of the sides
opposite to the angles A and C are 3 and 7 respectively. then cos A —cos C 18
equal to

Options:

3
;

71550513683.
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10
71550513684. /

5
71550513685. /

9

71550513686. 7

Question Number : 19 Question Id : 7155054330 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

afe U YT ABC H cos A+ 2 cos B+ cos C =2 § GUT HIVIT A TUT € & FHIT
I3 ] aTg HHR: 3 TUT7 6. dl cos A — cos C SRIER B

Options:

3
71550513683, /

10
71550513684, [/

5
71550513685. /

?

L —

71550513686. /

Question Number : 20 Question Id : 7155054331 Question Type : MCQ Option Shuffling : Yes Is

a
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the two statements
(S1):(p=q) A (p A(~q)) 18 a contradiction and

(S2):(pAQV{~p) AgQVIip Al~q)) V((~p)A(~q))1s a tautology
Options:

71550513687. both are true.

71550513688. both are false.

71550513689, only (S1) 1s true.

71550513690, only (S2) 1s true

Question Number : 20 Question Id : 7155054331 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&l HYA]

(S1): (p=q) A (p A(~q)) T ARG T qul

(S):(PAQV((~p) AQV (P A(~q))V((~p) A (~q)) TP RABIHI 5. 571 I
Options:
71550513687, &Il 9T ©

71550513688, &I-l I &

71550513689, PAT (SHTT B
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™, _ =
71550513690, 9°dcl (52) dcd ©

Mathematics Section B

Section Id : 715505266
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505266
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 21 Question Id : 7155054332 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of relations, on the set {1, 2, 3} containing (1, 2) and (2, 3), which
are retlexive and transitive but not symmetric, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

10

Question Number : 21 Question Id : 7155054332 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T (1,2, 3) RGeS (1, 2) 31 (2. 3) §, T 5t aqey SR Spma
& U= 9H1d el 8, @1 9T o

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 7155054333 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

| 2 2k —1
g, “+ i
— / | il ‘-} = : 2 i |
Let D=t n"+nt+s "t If E Dk = 96, then n is equal to
g, B
" i n n-4+n4+2 k=]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 22 Question Id : 7155054333 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁ 2k 2k -1
o) D, =jn n"+n+2 n- %’ﬁ t[[-ﬁz Dk = 06, al » G
" n-+nm ne+n+2 k=]

®

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 7155054334 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the digits a, b, ¢ be in A. P. Nine-digit numbers are to be formed using each of
these three digits thrice such that three consecutive digits are in A P. at least once.
How many such numbers can be formed?

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 7155054334 Question Type : SA Calculator : None

a
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0




Correct Marks : 4 Wrong Marks : 1

qET T P a, b, A, P, 051598 O U® 3P Bl di- §R UG &3 9 3D
®] =AU H UPR §415 Aldl 6 1@ di PHRTd H@IIQ HFHIAHFHUH AR AP
4 8l 29 UPR @i [da-t SETd §415 ol 9@l 82

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 7155054335 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the positive numbers ay, a,. a3. a4 and a; be 1n a G.P. Let their mean and

31 m
variance be — and — respectively, where m and n are co-prime. If the mean of

()
’-EI

their reciprocals 1s o and a; + a4+ as; = 14, then m +n 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 7155054335 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A1 Y-S 16 2y, a5, a5, a, 04T a; U G.P. 1 § | AT 54 H1L qYT YER0[
B % H‘lﬂ%%ﬁﬁﬁm qUT n IGHTT § | UfE 37 Ganaii & SIapH| )
33 %%Hm a;+a,+as=148. dlm+nRE o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 7155054336 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let [x] be the greatest integer < x, Then the number of points m the mnterval (=2, 1), where the function

f(x)=|[x]|+x-[x] is discontinuous, is
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 7155054336 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qTT [x] BT QUId < x g1 dl Sfavid (-2, 1) T 9 fdgafl, oigi war
J(x) Z‘ 1] ‘ +,,~I|",:u:—[,r] 3 %: AR LE! %

Response Type : Numeric
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 7155054337 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
0.15 A

If J- ]U[}}:E — lldx = —— . then k is equal to
—0.15 3000

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 7155054337 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
0.15 2

g [ [100x 1|dy = —— &7l kSaeRE
~0.15 3000

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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10

Question Number : 27 Question Id : 7155054338 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let ;{I}=hl'x+'«' dvand /(9)=12+7log, 7.1fI(1)=a + ?mgf_,(l +—2~JE)_.

A

then o is equal to

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 7155054338 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ng{x};hﬂ-‘f” deTUT[(9)=12+7log, 781303

I(1)=a+7log,(1+2v2) 8, W o R T

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Mssmnemdiam Rlsssmalams o MO Mesambiam Ta ¢«  TAEENAEADDN Masancdioanwm Tahrvmm o O Falasslatanw o« Al ava
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Two circles in the tirst quadrant of radui 1y and 7, touch the coordinate axes. Each of them cuts off an ntercept

N i 1 ; 1 h 1
of 2 units with the line x + v =2. Then " + ;" -y, 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 7155054339 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
T AU A 7, T -, 1 & &1 g0 e seff SR a8 1 570 9
T 3T x + y =2 1 2 §PTg P 3TWS Pledl g1 dl 2 + 12 -, R T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 7155054340 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let the plane x + 3y — 2z + 6 = 0 meet the co-ordinate axes at the points A, B, C. It the orthocenter of the

a@
gcollegedumaa
India’s largest Student Review Platform

S
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triangle ABC 15 [ﬂ,ﬂ, j ] . then 98 (@ + f)° 15 equal to




Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 7155054340 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T A x + 3y — 22 + 6 = 0 G Ui &7 &1 fdgsii A, B, c W e g | i

= -

HYS ABC DT 0eh 5 [ﬂ,,ﬂ,. ﬂ% a1 98 (o + B’ WE @

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 7155054341 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Atfairn (n> 1) taces die 15 rolled repeatedly until a number less than n appears. If the mean of the number of
i L ] JI 1
tosses required 15 5 then n 1s equal to

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

10

Question Number : 30 Question Id : 7155054341 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UFH A n (n> 1) Bad] & U $ R R B 9dl & 9d dP (& n 9 HH
TR W H B 90| g1 9T &l Bhoh i a9gd 13 Bl H|EHE%_. dl #
SR 5

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Physics Section A
Section Id : 715505267
Section Number: 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: res
Maximum Instruction Time : 0
Sub-Section Number : 1
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Sub-Section Id : 715505267
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 31 Question Id : 7155054342 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two satellites A and B move round the earth 1in the same orbit. The mass of A 1s
twice the mass of B. The quantity which 1s same for the two satellites will be

Options :

71550513701, Speed
71550513702, Kinetic energy
71550513703, Potential energy

71550513704, 1otal energy

Question Number : 31 Question Id : 7155054342 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A T4 B 3U¥e, gl & URd: THH &7 H IRpA FX 6 6| APISoUH.B P
o0 9 G § | GIFT SU¥s! & ot ol M §H1H 38711, 78 ©:

Options:

71550513701, 9l

71550513702, Tl Sl
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71550513703, FUfae ol

71550513704, P9 Soll

Question Number : 32 Question Id : 7155054343 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II

LIST I LI'ST 11
5 apioropes T o ;

-
5 Pomearotioea [ ]n

Choose the correct answer trom the options given below:

Options:
71550513705. A-L B-1II, C-II, D-IV

71550513706, A=l B-I. C-IV, D-III

71550513707, A-IV, B-1, C-III, D-II

71550513708, A-ll, B-I1I, C-I, D-IV

Question Number : 32 Question Id : 7155054343 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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gl 1 1 g1 11 9 5 &

I S i
-_-

C@umEder 00 [Mipal 0
D samgst 000 [Mpalrh

- AU T [d@edl # ¥ Tl IR T4

Options:

71550513705, A-L. B-III, C-II, D-IV

71550513706. A-1l, B-I. C-IV, D-III

71550513707, A-IV, B-1, C-III, D-II

71550513708, A-IL, B-III, C-I, D-IV

Question Number : 33 Question Id : 7155054344 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : A truck and a car moving with same kinetic energy are brought ta
rest by applying breaks which provide equal retarding forces. Both come to rest in
equal distance.

Statement II : A car moving towards east takes a turn and moves towards north.
the speed remains unchanged. The acceleration of the car 15 zero.

In the light of given statements, choose the most appropriate answer from the
options given below

Options:

71550513709. Both Statement I and Statement II are correct.

71550513710. Both Statement I and Statement II are incorrect.

&collegeduniaﬁ
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71550513711. Statement [ 15 correct but Statement II 1= incorrect.

71550513712. Statement I 15 incorrect but Statement II 15 correct.

Question Number : 33 Question Id : 7155054344 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

S E GG AR

HY 1 : JHH TS FHoil 1 T4 36 TP ¢ U4 U PR B, 5P TNPR
[ARTHTGRT H T STl g. Jald S T Ha® 90 alH ®d o | &iH A
SIAI T8 DR & 914 [AREERI H 31d B

PY 11 : [RE B WP 99 el U9 PR G5l ¢ T4 IR B TRP 90 ¢, STaiP
3P| 91a 3UNafdd Xgdl 81 PR BT @0 I B

3qdad Byl & HgH 4, Ad fGu e faswedl § 9 9alits 3uged IR 94:

71550513709, ®UA I Ud HY= 11 SHI ¥el g

21650513710, PUATTd BYF 11 &HI TTad B |

71550513711, DY L eI & TR-q HY 11 7Tad 5 |

155051371, DU 1TTEId & UR= &Y I gl ¢

Question Number : 34 Question Id : 7155054345 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

a
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Instruction Time : 0




Correct Marks : 4 Wrong Marks : 1

The amplitude of 15 sin (1000 xt) 1s modulated by 10 sin (4 wt) signal. The
amplitude modulated signal contains trequencies of

A. 300 Hz
B. 2Hz

C. 250 Hz
D. 498 Hz
E. 302 Hz

Choose the correct answer from the options given below:

Options:

71550513713, A. D and E only

71550513714, A and B only

71550513715, A and C only

71550513716, A and D only

Question Number : 34 Question Id : 7155054345 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
15 sin (1000 7t) BT AT, 10 sin (4 7t) P 9 gRI HISled [Ba1 A g |

A Higled ™yd H 1giir g |

A. 500 Hz
B. ZH=

. 25V Hz
D. 498 Hz
E. 502 Hz

=1 4T U fdeedi § ¥ Igl S I:

Options:

71550513713, A0 A, DUAE

a
&collegedumaa
India’s largest Student Review Platform

S



71550513716. PA AUd D

Question Number : 35 Question Id : 7155054346 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : When the frequency of an a.c source in a series LCR circuit
increases. the current in the circuit first increases. attains a maximum value and
then decreases.

Statement II : In a series LCR circuit, the value of power factor at resonance 1s
One.

In the light of given statements, choose the most appropriate answer from the
options given below.

Options:
71550513717. Both Statement I and Statement I[ are true.
71550513718. Both Statement I and Statement II are False.

71550513719. Statement I 1s correct but Statement II 15 false.

71550513720. Statement I 1s incorrect but Statement II 1s true.

Question Number : 35 Question Id : 7155054346 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

a
&collegedumaa
India’s largest Student Review Platform

S

- ] a ® - .




Correct Marks : 4 Wrong Marks : 1
e &l Y- U U &:

YT : G@Wﬂﬂﬂmmﬁwﬁqﬂuﬁﬂfmﬁf@ﬁﬁaﬁ% SIARRGIG I
a1 g9y H ¢RT95d ¢« 6, R P ar I YR &Rl §, 9P 98 gedl

gl

Eﬁﬂ:%,ﬂ : 9095 LCR URTY ¥, 3M1E ®f [YTd 1 e oS &1 A1 U
BT B

Sqdad Syl & e o, Fid f4U MU fdeedi T I Halite 3ugdad 3R I

Options:

21550513717 PUA 1T HYA T GH G B |

21550513718, DY 1 Ud HYA 11 HI A B |

71550513719, PUA 1 T § TR TUF 11 3 ¢ |

71550513720, DU I I § TR~ HY- 11 9 & |

Question Number : 36 Question Id : 7155054347 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The ratio of escape velocity of a planet to the escape velocity of earth will be:-

Given: Mass of the planet 1s 16 times mass of earth and radius of the planet 15 4
times the radius of carth.

Options:

71550513721. 2:1

71550513722, 1:+/2
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71550513724, 1:4

Question Number : 36 Question Id : 7155054347 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[l U8 & g 971 1 Yl & qard- o1 § 3{-I41d §I:

[T &: U§ @1 Go0HTH, Yl & SegHH &1 16 TH1 U8 Ug &1 Hedl, gedl &1 e
Pl 4 T B

Options:

71550513721, 2:1

71550513722 1:4/2

71550513723. 4:1

71550513724, 1:4

Question Number : 37 Question Id : 7155054348 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A body cools from 80°C to 60°C in 5 minutes. The temperature of the surrounding
1 20°C. The time 1t takes to cool from 60°C to 407C 1s:
Options:
2
—b5
71550513725, 3
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71550513727. 450 s

71550513728, 420

Question Number : 37 Question Id : 7155054348 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U% fOus 5 fiFe 5 80°C 9 60°C d@ 51 oidl o | GIdTa<ul &I al9d 20°C g
S 60°C T 40°C 9 38T 84 H &7 997 &

Options:

25
71550513725, 3

71550513726. 300 s
71550513727. 430 s

71550513728. 420 s

Question Number : 38 Question Id : 7155054349 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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An engine operating between the boiling and freezing points of water will have

A. efficiency more than 27%.

B. etticiency less than the efticiency of a Camot engine operating between the
same TWwo temperatures.

C. ethiciency equal to 27%

D. ethiciency less than 27%

Choose the correct answer from the options given below:

Options:

71550513729, B and C only
71550513730, B and D only

71550513731, A and B only

71550513732, B. C and D only

Question Number : 38 Question Id : 7155054349 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ul & By Ud [fHiP & did SR U gu- Dl

A, G&AT 27% T A<D Tl

B. G&A1 §HH d199H] fdg3{i & ol S1ad STl Soi4 $i Gafdl 9 $H s |
C. QAT 27% o F3&Y BIvll

D. S&dTl 27% I HH gRI

19 ST T [dwedi § ¥ Tel SR 94

Options:

71550513729, Paa BTd C

71550513730, DA B Td D
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Question Number : 39 Question Id : 7155054350 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If the r. m. s speed of chlorine molecule 15 490 m/s at 27°C, the r. m. s speed of

arecon molecules at the same temperature will be (Atomic mass of areon = 39.9 u,
molecular mass ot chlorine = 70.9 u)

Options:

71550513733. 451.7 m's
71550513734, 5531.7 m/s
71550513735, 631.7 m/s

71550513736. 751.7m's

Question Number : 39 Question Id : 7155054350 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afg 27°C UR FAR U] 1 o] Hed Hel 91d 490 m's § | FHM A9 TR HH
31U 1 71 H1eH T d1e G (3171 &1 YRATY SouHH = 39.9 u, TR B
3UgP GodHlH = 70.9 u)

Options:

71550513733, 451.7 m/s
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71550513734, 351.7 m/s
71550513735. 651.7 m/s

71550513736. 731.7 m/s

Question Number : 40 Question Id : 7155054351 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A particle 1s executing simple harmonic motion (SHM). The ratio of potential
enerey and kinetic energy ot the particle when 1ts displacement 1s half of 1ts
amplitude will be

Options:

71550513737. 1:4
71550513738, 1:3
71550513739, 2:1

71550513740. 1:1

Question Number : 40 Question Id : 7155054351 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS SV IRG ATaTd DL I61 ©| 5F =8 U] & GO, ST AT BT 74T
% 06 g8P! RUTde Sl Ud Tidel Sl &1 Ha1d 81!

Options:

71550513737. 1:4
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71550513738, 1:3

71550513739. 2:1

71550513740. 1:1

Question Number : 41 Question Id : 7155054352 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other 15
labelled as Reason R

Assertion A : If an electric dipole of dipole moment 30%10 C m is enclosed by a
closed surtace, the net flux coming out of the surtace will be zero.

Reason R : Electric dipole consists of two equal and opposite charges.

In the light of above, statements. choose the correct answer from the options given
below.

Options:

71550513741 Both A and R are true and R 1s the correct explanation of A

71550513742 DBoth A and R are true but R 1s NOT the correct explanation ot A

71550513743. A 1s true but R 1s false

71550513744, A 1s false but R 1s true

Question Number : 41 Question Id : 7155054352 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0




Correct Marks : 4 Wrong Marks : 1
A1 &l U ST U §, U & JHUHYT A Ud g8 &l HRUIR Hel 11 &

STUBYT A : TG 30+107 cmiﬁgﬂaﬂ@fwmﬂdqgﬂﬁgd &l 95 U
Y [eR1 8, 41 g o Foaq dred $d Fiad &1 9 94 8RN

BRI R : fdgqd fgya § &1 994 U8 fowRid 3 e g |
SYed HYAl & W H, A1 S0 70 fddedl § ¥ 98l SR T1:

Options:

71550513741 AUd R &HI Yol o aUl APl Jel AATR ©

71550513742, A Ud R &IF1 981 € TUT A $1 G5l IRATR 161 &

71550513743, A Tel & g R I ©

71550513744, ATTOA 8 RdR TGI ®

Question Number : 42 Question Id : 7155054353 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A wire of resistance 160 Q2 1z melted and drawn 1n a wire of one-fourth of its
length. The new resistance of the wire will be

Options:
71550513745, 10 £2
71550513746. 16 £2

71550513747. 40 £2

71550513748. 640 £2
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Question Number : 42 Question Id : 7155054353 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

160 O UfRIY 9T1d IR &f [UYdeR 96! dEE &f U6-g91YS Mg & aias
1 UF dR §101 91l & | IR U 141 Wia=ie gH.

Options:

71550513745. 10 £2

71550513746. 16 £2

71550513747. 40 £2

71550513748. 640 £2

Question Number : 43 Question Id : 7155054354 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements;
Statement I : The diamagnetic property depends on temperature,

Statement II : The induced magnetic dipole moment in a diamagnetic sample 12 always opposite to the
magnetizing field,

In the hight of given statements, choose the correct answer from the options given below.
Options:

71550513749. Both Statement I and Statement I are true.

71550513750. Both Statement I and Statement II are False.
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71550513751. Statement I 1s correct but Statement IT 15 false.

71550513752, Statement I 15 incorrect but Statement II 1s true.

Question Number : 43 Question Id : 7155054354 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S ERIE AU

Y 1 : Ui g 707, A9HEH TR (1R Bl 2

HYF 11 : A D g T 5 AR I fged o), 96d T 89 &
fagdia g g1

SYyddd Byl & HgH §, g feu v fawedl © O 9alie Iuged SR 9.

Options:

71550513749, DY 1 U4 HY 11 &IHI Hel ¢ |

21550513750, PYU 1T HUF I HI TAd 6|

J1eE051375 DU 1 HBI § U] BY 11 7TaTd 6|

1155051375, DU 1A § U] DU II Jgl 6|

Question Number : 44 Question Id : 7155054355 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A ball 15 thrown vertically upward with an instial velocity of 150 m/s. The ratio of velocity atter 3 s and 5 s 13
Y+ .
——, The value of x 15

X

ftake, g = 10 m's*)
Options :
/1550513753. >

71550513754. 6

71550513755. 10

Ay

71550513756. —

Question Number : 44 Question Id : 7155054355 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
TP TG SR HW B 3R 150 m/s P IRMEIS FTH BBl Gl 813 s Td 5 5
& q1C 39 a7 T S - +_I gl x BTHF g (A3, g= 10 m/s?)

A

Options:

/1550513753. >
71550513754. 6
71550513755. 10

71550513756. —>

Question Number : 45 Question Id : 7155054356 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatorv : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Three forces Fy=10 N, F,=8 N, F;=6 N arc acting on a particle of mass 5 kg. The
forces F, and F; are applied perpendicularly so that particle remains at rest. If the
force Fy 15 removed, then the acceleration of the particle 1s:

Options:

71550513757. 2 ms™
71550513758, 7 ms™-
71550513759, 4.8 ms™

71550513760. 0.5 ms ™=

Question Number : 45 Question Id : 7155054356 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 kg SOOTH & U HUI R F,=10N, F,=8 N UG F,=6 N & i &1 o'l g | &
F, Ud F, @&ad § Ud U JR 59 UBR ARIUC § [P DUl foxmEa | g1 aie
§c1 F, @I gl [efg1 91U, ol U1 & @’ 6

Options:

=

71550513757, 2 ms

71550513758, 7 ms™

71550513759. 4.8 ms™

71550513760. 0.5 ms™
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Question Number : 46 Question Id : 7155054357 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An ice cube has a bubble inside. When viewed from one side the apparent distance
of the bubble 15 12 cm. When viewed trom the opposite side, the apparent distance
of the bubble 15 observed as 4 cm. If the side of the 1ce cube 15 24 cm, the
refractive index of the ice cube 1s

Options:

71550513761. 3
71550513762. 3

71550513763. 3

2
g,

71550513764, <

Question Number : 46 Question Id : 7155054357 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[l 9 & U+ & 3fax U gagall o | Uh kP & ¢@- IR gaga &I STHE]
X 12 om B FO08T G2 ¥ S8 R Gagd 1 &30 4 em WA Bl o1 fE 6
& U I Yol 24em ©, dl 9 & G- DI YD

Options:

6
71550513761. 5
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2

71550513762, 3

4
71550513763. 3

3
71550513764, 2

Question Number : 47 Question Id : 7155054358 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A proton and an o-particle are accelerated from rest by 2 V and 4 V potentials,
respectively. The ratio of their de-Broglie wavelength 1s

Options:

71550513765. 2:1

71550513766. 4:1

71550513767. 8:1

71550513768. 16:1

Question Number : 47 Question Id : 7155054358 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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U@ YiciH U4 UP o-H0 DI HHR: 2 VTG 4 VD GRI [GHTH H @R 7 STl
g1 3D SI-s1TTell ! &1 3Ud o

Options:

71550513765. 2:1

71550513766. 4:1

71550513767. &:1

71550513768. 16:1

Question Number : 48 Question Id : 7155054359 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 12.5 €V electron beam 1s used to bombard gaseous hydrogen at room
temperature. The number of spectral lines emitted will be:

Options:

71550513769. 1

N

71550513770.
71550513771. 3

71550513772. 4

Question Number : 48 Question Id : 7155054359 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1




HHI & IIHH U 39l TG BIEgio U 12.5 ¢V aTdl sadgi- (bR g 9§
SOER] &1 SIdl ¢ 1 Scdford gy SacH! T@13il & Hem gi:

Options:

71550513769. 1

rJ

71550513770.

71550513771, 3

71550513772. 4

Question Number : 49 Question Id : 7155054360 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an n-p-n common emitter (CE) transistor the collector current changes from 5
mA to 16 mA for the change 1n base current from 100 pA and 200 pA.
respectively. The current gain of transistor 1s

Options :

71550513773. 0.9
71550513774. @
71550513775. 110

71550513776. 210

Question Number : 49 Question Id : 7155054360 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time: 0




n-p-n SHAMY IHIP TR (CE) H SMYR YRTH HH: 100 pA T 200 pA
d® giafdd g4 § TU8® YR ST HM 5 mA T 16 mA 81 91 © | TIIeR &l
IRT AT gl

Options:

71550513773. 0.9

71550513774. 9

71550513775. 110

71550513776. 210

Question Number : 50 Question Id : 7155054361 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other 1s
labelled as Reason R

Assertion A : EM waves used tor optical communication have longer wavelengths
than that of microwave, employed in Radar technology.

Reason R : Infrared EM waves are more energetic than microwaves, (used mn

Radar)

In the light of given statements, choose the correcr answer from the options given
below.

Options :

71550513777 Both A and R are true and r 1s the correct explanation of A

71550513778 Both A and R are true but R 1s NOT the correct explanation of A

71550513779. A 1s true but R 1s false

71550513780. A 1s false but R 15 true

~
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Question Number : 50 Question Id : 7155054361 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

-1 &l Y [SU U B, U &l HYHYT A Ud g% Pl HRUIR HEl 41§ |

MUBYT A : WhIID (3fUicha) R H Ugdd EM a7 B aiilat, JASR

Jh- H vgad GeHa & aueed § §81 gidl o

BRI R : ARG degdgad 4 ol &1 Foll TSR B T J&7 T B FHoll

g 3P BIdl B!
39gad Ul & YpR H, 94 U e faeedi & 9 ¥el SR I

Options:

21550513777 AUd RG] ol & d4l A @l Yol IRATR ©

71550513778, AT R &HI Ul ¢ a4l A &I Jol ARATR Fel &

71550513779, A T6l 8§ TG R TTWId &

.
71550513780, A 700 € IR TGl &

Physics Section B

Section Id : 715505268
Section Number: 4

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
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Number of Questions to be attempted : 5

Section Marks: 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505268
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 7155054362 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A compass needle oscillates 20 times per minute at a place where the dip 15 307 and 30 times per minute where

e P _ g = .
the dip 15 60°, The ratio of total magnetic tield due to the earth at two places respectively 18 - The value of x

v X
15
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 51 Question Id : 7155054362 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el BT IR I bl g, Uid fFe 20 Sid Bl 8, Wl 75 S0 30° 8, Td
m%‘rfﬂ:azmaﬂmﬁiﬁrﬁ{ﬁﬂmmw%ﬁwﬁwqﬁ%w

wﬂu&ﬁwajuld—%lmo Es gl

_.II',

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 7155054363 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To maintain a speed of 80 km/h by a bus of mass 500 kg on a plane rough road for
4 km distance, the work done by the engine ot the bus will be KJ. |The
coetficient of friction between tyre of bus and road 1s 0.04.]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 7155054363 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ Yl TRaX dd dcll G5 TR 4 km P G TP, 500 kg FIHM dlell &9 & gR
80 km/h @1 ITd &I &0 G- & OI0, §9 & o+ g a1 T &g
kT § [€9 & Uledl U4 Y5& & 9 &1 °Ubu] [Ulid 0.04 B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

TavE Avaac » DIainTavt
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Possible Answers :

10

Question Number : 53 Question Id : 7155054364 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A
For a rolling spherical shell, the ratio of rotational kinetic energy and total kinetic enerey 1s —, The value of x

5

.

18

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 7155054364 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dedld gU Wigd Tl & (o8, UIH TTfdol SHoll Ud $d TTidel Soll BT Ul

X = 2
— &l x P I gl
5

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

14
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Glycerin of density 1.25x10° ke m™ is flowing through the conical section of pipe.
The area of cross-section of the pipe at its ends are 10 cm” and 5 em” and pressure
drop across its length is 3 Nm™. The rate of flow of glycerin through the pipe is

<1072 m ¢!, The value of ¥ is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 7155054365 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1.25x10° ke m™ Y@ aTall FeRRiA, U el & YeIpR YA H Ydlied 8l Yol o |
=Tall & S BRI & SR BT BT 475 10 em’ TG 5 em’ 8, Td 30D R
R SIEI=R 3 Nm™ 81 il & 3R o= & Udie @1 G xx10™ m’s 1 § 1 x @1
HH gl

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 7155054366 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1




For a certain organ pipe, the tirst three resonance frequencies are in the ratio of
1:3:5 respectively. It the frequency of fitth harmonic 1s 405 Hz and the speed ot

sound in air is 324 ms™! the length of the organ pipe is m

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 7155054366 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wﬁ:ﬁﬂﬂ T1 el & forg, gedl i SRl SMgiidl @1 SuTd HHST:
3:5%1 34 Euqcﬂ JJ,Urqi?Im’i‘eerﬁﬂm Hz &, Ud g4 § &5+1 &1 91e
324 ms™! @, Al 3G il DI Ty mol

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 7155054367 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

64 identical drops each charged upto potential of 10 mV are combined to form a
bigger drop. The potential of the bigger drop will be mv,

Response Type : Numeric

Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 7155054367 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

64 UHHHM 9 [oH TP DI 10 mV db 1a2rd fbar 741 §, i [Hi%d S
TS §o! §¢ 4101 75 8| 991 §¢ @ fdua mV BRI

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 7155054368 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The current tlowing through a conductor connected across a source1s 2 A and 1.2

A at 0°C and 100°C respectively. The current tlowing through the conductor at

50°C will be «10° mA.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Number : 57 Question Id : 7155054368 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[pH! Fid & BRI 9 98 91d® H 0°C Ud 100°C IR U 2 ATG 1.2 A D URI
Jarfed sidl 61 50°C R ITad & Hdlfed YR &1 JF <102 mA BT

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 7155054369 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A conducting circular loop 1s placed in a uniform magnetic ficld of 0.4 T wath 1ts
plane perpendicular to the tield. Somehow, the radius of the loop starts expanding
at a constant rate ot 1 mm/s. The magnitude of induced emt in the loop at an

T

mstant when the radius of the loop 15 2 cm will be V.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 7155054369 Question Type : SA Calculator : None
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Correct Marks : 4 Wrong Marks : 1
1% 910 G YUY, 0.4 T UHHHH T[T &7 H 58 YOR 313 (% 001 70 &4 & Tdd g

Y PR, Y I e | mmsﬁﬂ@m%\ Tor 9T 93 Bt 39012 em % I U R R T URT
45y a5 §¢ T YA WV |

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 7155054370 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two convex lenses of focal length 20 ¢m cach are placed coaxially with a separation of 60 cm between them.
The 1mage of the distant object formed by the combination 1s at cin from the first lens,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 7155054370 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

20 em P G 310 € G0 Y. T SHY 44 T TP-Z8R 9 60 e P1 G0 R ¢ R T 1,
2o GRI G Widiars Ugd oF § em G4 TR G

Response Type : Numeric

Fvalniatinn Raninirad Enr CSA * Vac
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 7155054371 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A common example of alpha decay 1s

s5a 234 4
5y U—>9 Th+,He +Q

Given ;
;,3 U =238.05060u,
334 Th =234.04360u,

_f__,lHe = 4.00260u and

lu=93].5 MV

C

%
The energy released (Q) during the alpha decay of ;;38 | is MeV

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 7155054371 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0




Correct Marks : 4 Wrong Marks : 1
Ueh] & BT HIURY 3ETEX0 5

- 234 ,
a;; U——9 Th ‘1‘21—16;1 + Q

Fe T %:

238

e U =238.05060u,
~*Th =234.043600u,

jHe = 4.00260u U@
lu=931.5 "‘“3’“’

C

23
92

Response Type : Numeric

® U & Uew1 &1 & SR 9 §3 ol (Q)___ MeV &

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Chemistry Section A
Section Id : 715505269
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
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Clear Response:

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505269
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 61 Question Id : 7155054372 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A metal chloride contains 55.0% of chlorine by weight . 100 mL vapours of the metal chloride at STP weigh
0.57 g. The molecular formula of the metal chloride 15
(Given: Atomic mass of chlorine 15 35.5u)

Options:

71550513791, MCI
71550513792, MCl,
71550513793, MCl;

71550513794, MCl4

Question Number : 61 Question Id : 7155054372 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U® YT FIRISS H HR & SR 55.0% FARM 3RYT %l_STPW: Eﬂg_\qﬂﬂhlas
& 100 mL AT BT YR 0.57 ¢ §| YTd FIRISS DT U A 5 (401 741 §: FAlRA

ORAT] o0 35.5u ©)
gcollegeduniaa

S

Options:




71550513791. MCI

71550513792, MCl;

71550513793, MCl;

71550513794, MCly

Question Number : 62 Question Id : 7155054373 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The bond order and magnetic property of acetylide ion are same as that of

Options:

71550513795, 92

71550513796. N2

71550513797. NO~

71550513798, O2

Question Number : 62 Question Id : 7155054373 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
URifeess g &1 e+ $ife Ud Jea iy Ayl feud guH g2

Options:

a
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71550513795, 92

71550513796. N2

71550513797. NO

71550513798, O2

Question Number : 63 Question Id : 7155054374 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For lead storage battery pick the correct statements

A. During charging of battery. PbSO, on anode 1s converted into PbO,

B. During charging of battery. PbSO, on cathode 1s converted mto PbO,
C. Lead storage battery consists of grid of lead packed with PbO, as anode

D. Lead storage battery has ~ 38% solution of sulphuric acid as an electrolyte

Choose the correct answer trom the options given below:
Options:

71550513799, 4. B, D only

71550513800, B: D only

71550513801, B. C only

71550513802, B: C. D only

Question Number : 63 Question Id : 7155054374 Question Type : MCQ Option Shuffling : Yes Is

a
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oS HaU® dedl & He H, 98l PUHl Dl I+

A. 931 & 1ol & SR, TS R Pbs0,, IRafdd 81d1 & Pbo, T
B. §¢<1 & =IO & GRM, $US TR Pbs0, URafdd BIdl § PbO, T |
C. IS Ta0® deil § oS B UD IS gidl & fSH 1R §31 Pbo, UAIS &
I Bl o
D gs Fa® ded) 1 a5y Sued & =0 T ~ 38% Jer® 3 gl
|

1< 14U T fadhedi § ¥ Hel SR I

Options:

71550513799. $Hdd A, B, D

71550513800, PAd B, D

71550513801, P4t B, C

71550513802. Haa B,C,D

Question Number : 64 Question Id : 7155054375 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Four gases A, B. C and D have critical temperatures 5.3, 33.2, 126.0 and 154.3K respectively.

For their adsorption on a fixed amount of charcoal, the correct order 1s:
Options:

71550513803. D> C>=B>A

71550513804. D= C=A>DB

a
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71550513805. C=D>B>A

71550513806. C=EBE=>=D=>A

Question Number : 64 Question Id : 7155054375 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[ ﬂ+ﬁ£r B, CTd D &I HI~dd dIaH HH: 5.3.33.2, 126.0 Td 154.3K %I

gRG I & g OEr R) 394 Ay &1 9el $1 &

Options :

71550513803. D= C>=EB=A

71550513804. D=C>=A=B

71550513805. C =D >=B>A

71550513806. C =B =D >=A

Question Number : 65 Question Id : 7155054376 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The density of alkali metals 1s 1n the order

Options:

71550513807. K<Na<Rb <Cs

71550513808. Na<K <Cs <Rb

a@
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71550513809. K <Cs <Na<Rb

71550513810. Na<Rb <K <(Cs

Question Number : 65 Question Id : 7155054376 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&R T 31 & U BT hY &

Options:

71550513807. K <Na <Rb < Cs

71550513808. Na<K <Cs<Rb

71550513809. K << Cs <Na<Rb

71550513810. Na<Rb <K <(Cs

Question Number : 66 Question Id : 7155054377 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Grven below are two statements: one 15 labelled as Assertion A and the other 15 labelled as Reason R

Assertion A : In the Ellingham diagram, a sharp change in slope of the line is observed for
Mg —MgO at ~ 1120°C

Reason R: There 15 a larce change of entropy associated with the change of state

In the light of the above statements, choose the correet answer from the options given below

Options :

71550513811 Both A and R are true and R 1s the correct explanation of A
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71550513812 DBoth A and R are true but R 1s NOT the correct explanation of A

71550513813. A 1s true but R 15 false

71550513814. A 1s talse but R 1s true

Question Number : 66 Question Id : 7155054377 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
- &l HYA AU U 8, U B HUDHYT A Ud gHY Bl HRUIR Hel T g |

AUBYT A : TTTa =TT ~ 1120 °C
O Mg —MeO & [0 ¥E@1 & grd | dig gRad- <@ a1 8|

PRI R: G H 9Raa & 1Y Tidl 3 §51 IRkad- ool g |
Sutdd Byl & UBRI 4, Hid fGU MU fadedl ¥ 9 el ST 9.

Options:

21e60513811 AUd R GIHI Uol t 94l A Dl Yol IRATR ©

21550513912 ATUd R &HI Jol & a4l A P! Yol IRATR ol o

71550513813, A J6! ¢ I R 710 §

71550513814, ATAT 6§ AR TGI &

Question Number : 67 Question Id : 7155054378 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I LIST IT
Type of Hydride Example

lectron deficient hydnd -

Electron rich hydride

T 1 -

Choose the correct answer from the options given below:

Options:
71550513815, A-1l, B-1II, C-I, D-IV

71550513816. A-ll, B-III, C-IV, D-I

71550513817 A-IIL B-1I, C-IV, D-I

71550513818, A-lL B-IL, C-I, D-IV

Question Number : 67 Question Id : 7155054378 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il 11 A 11 H 5 e

IR E19S Pl PN Jalevul
A [50dgi I BI33IES

B Bk s Elgges | JHF
C. RO IR BEgRe| L BoHs
D. o BlEgIEs

41 feu U fa@edf O ¥ el SR -

Options:

i TT TR OTTT T TR O TTT
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71550513816, A=l B-III, C-IV, D-I

71550513817, A-IIL B-II. C-IV, D-I

71550513818. A-IIL B-II. C-I, D-IV

Question Number : 68 Question Id : 7155054379 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the given reaction cycle

CaCl, + Na,COy; —> X S
M

X.Y and Z respectively are
Options:
X Y

71550513819, €20  NaCl+CO;

X Y

71550513820, €a0  NaCl + CO,

X Y

71550513821, €aC0O3  NaCl

X -

71550513822, €aC0;  NaCl

NaCl

KCI

HCI

KCl

~

S
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Question Number : 68 Question Id : 7155054379 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Y 3{Hfdhar & ey

CaCl, + Na,CO; —> X+ Y

B\

X.YU4d Z §. HH:

Options :

71550513819.

71550513820.

71530513821.

71550513822.

X Y

CaO NaCl+CO,

X L

Ca0  NaCl+CO,

X Y

CaCO; NaCl

X Y

CaCOq NaCl

NaCl

KCI

HCI

KCl

Question Number : 69 Question Id : 7155054380 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements:
Statement I : Boron is extremely hard indicating its high lattice energy

Statement IT : Boron has highest melting and boiling point compared to its other
oroup members.

In the licht of the above statements. choose the most appropriate answer from the
options given below

Options:

71550513823. Both statement I and Statement II are correct

71550513824. Both Statement I and Statement I are incorrect

71550513825. Statement [ 1s correct but Statement I 15 incorrect

71550513826. Statement I 1s incorrect but Statement IT 15 correct

Question Number : 69 Question Id : 7155054380 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i Gl Y- EETFE%

YT : IR AHANH FER © ol 29F I 9ad 3ol Bl Sd HIaT o |

gﬂﬁn;ﬂﬂ;ﬁ? 3 Ha! B qorl § GRI- D1 e-iI® Ud SU-iS Jalidsd
|

Sudad ®yHl & Heu 1, i fGu U fasedl O O Falide Suged 3R I:

Options:

21550513823, YA 1Td HYA 1 & Fol o |

21560513874 DY 1 UG HYA 11 &HI TAd 6|
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71550513825, DU 1 TEl § UR-q U 11 7T9d &

71550513826, U 1TTE & U= DY 11 Tel &

Question Number : 70 Question Id : 7155054381 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : SbCl; 1s more covalent than SbCl,

Statement IT: The higher oxides ot halogens also tend to be more stable than the
lower ones.

In the light ot the above statements. choose the most appropriate answer trom the
options given below

Options:
71550513827. Both statement I and Statement II are correct
71550513828. Both Statement I and Statement II are incorrect

71550513829. Statement [ 1s correct but Statement II 15 incorrect

71550513830. Statement I 15 incorrect but Statement II 15 correct

Question Number : 70 Question Id : 7155054381 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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EIEEACAIE GRS

BYF I : ShCl, DI qo-1 H ShCl. HIUP Feaalsi g |

®Y I1: TaloHl & I SHISS 9 I go-r § 3ifés =l 8id 8|
Syl Byl & Heu O, 44 f3u U fawedi © 9 galfte Suged 3R I:

Options:

21550513827, BYA 1 Ud Y- 11 &l Tol |

21560513878 DY 1 UG HYF 11 &1H1 7Tad 6|

71550513829, PYUT I TE! & TR=g HY 11 7Ted 5 |

1550513830 PYUT 1 TTEId & UR= Y II gl g

Question Number : 71 Question Id : 7155054382 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statement: one 1s labelled as Assertion A and the other 15
labelled as Reason R

Assertion A: 5t electrons can participate 1n bonding to a far greater extent than 41
electrons

Reason R: 5t orbitals are not as buried as 41 orbitals

In the light of the above statements. choose the correct answer from the options
given below

Options:

71550513831 Both A and R are true and R 1s the correct explanation of A

71550513832 DBoth A and R are true but R 1s NOT the correct explanation of A
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71550513833. A 1s true but R 15 false

71550513834, A 15 false but R 1s true

Question Number : 71 Question Id : 7155054382 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-Id &l HY [GU U &, U Bl MTUDHYT A Ud 39 & HRUTR el 141 ¢ |

STUBYT A: 4f SAGCII DI I H 57 FAGE TG H (9D AATH HAT
god gl

BRI R: 5f FUFH 3d-1 To] 94 6U Bl © o1a- [ 4f PEF |

Sgad YAl & Yhre B, Hid fqu U faseeul & 9 ¥l SR I

Options:

s1ec50513831 A UA R GHI ol t 94l A Dl Yol ARATR ©

21550513932 A Ud R 3 Yol & a4l A ®| Yol IRATR ol o

71550513833, A U061 6 UG R 7Teld §

=%
71550513834, AT 8 WJR Tel ©

Question Number : 72 Question Id : 7155054383 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Match List I wath List I

LISTI LIST II
C nmplex CFSE (Ap)

_

) 7 — T —

Choose the correct answer trom the options given below:

Options:

71550513835, A-IIL B-1V, C-I, D-II

71550513836, A-L. B-IV, C-II, D-III

71550513837, A-lL. B-11I, C-I, D-IV

71550513838, A=l B-II, C-IV, D-III

Question Number : 72 Question Id : 7155054383 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 1 1 e gl 118 By

i feu e fadedl § 9 981 3R 94:
Options:
71550513835, A=l B-IV, C-I, D-II

o
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71550513836, A=L. B-IV, C-II, D-III

71550513837, A-lL B-IIL, C-I, D-IV

71550513838, A-L. B-II. C-IV, D-III

Question Number : 73 Question Id : 7155054384 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II

LIST I LISTI
Nitrogen oxides in air L [Eutrophication

pH of rain water becomes 5.6
Global warming
110 SpthEE fenil.is.erﬁ i wate

Choose the correct answer from the options given below:

Options:

71550513839, A-l, B-IL. C-III, D-IV

71550513840, A-1lL, B-11I, C-I, D-IV

71550513841, A-IV, B-III, C-II, D-I

71550513842, A-LV, B-11, C-1II, D-I

Question Number : 73 Question Id : 7155054384 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

gcollegeduniaﬁ
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Correct Marks : 4 Wrong Marks : 1

I 1 1 (5 9=l 11 H &<
‘,ﬂ_'ﬂ_

g AT3eie 3] chmaaﬂ-- G50 il ¢||Lbcr:x-aar|;|

J~’:1IG?IC"I

B i T
=14 fSu MU faegi © 9 el 3R g

Options:

71550513839, A-IL. B-IL, C-III, D-IV

71550513840, A-IL. B-IIL, C-I, D-IV

71550513841, A-IV, B-1II, C-II. D-I

71550513842, A-IV, B-1I, C-III, D-I

Question Number : 74 Question Id : 7155054385 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Correct statements for the given reaction are :

OH

(OH

A. Compound 'B' 1s aromatic

B. The completion of above reaction 1s very slow

C.'A' shows tautomerism

D. The bond lengths of C-C 1n compound B are found to be same

Choose the correct answer from the options given below:

Options :

gcollegeduniaﬁ
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71550513843, A- B and C only

71550513844, B C and D only

71550513845, A. C and D only

71550513846, A B and D only

Question Number : 74 Question Id : 7155054385 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[T 1T 3{[HIehdT & AU

“x\ f[}l I
| &
) :
U (JH
R
A. OIf% B WRiafew g

B. Iuaa ifufchar &1 qular srea-d oidi 8
C.'A' IaTagad U id Hidl g
D. gifflee B & ¢-C &l araTs g9 Uil 7S ©

= fTu U fo el | ¥ Iel 3R I:

Options:

71550513843, PAU A, B R C

71550513844, PGA B, C IR D

71550513845, PAd A, C 3R D
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71550513846, @90 A, B 3R D

Question Number : 75 Question Id : 7155054386 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(1) Og

2-hexene —— > Products
(i1) H,O

The two products formed 1n above reaction are -

Options:

71550513847. Butanoic acid and acetic acid

71550513848 Dutanal and acetaldehyde

71550513849 DButanoic acid and acetaldehyde

71550513850. Butanal and acetic acid

Question Number : 75 Question Id : 7155054386 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) O

2-hexene —5* Products
(ii) H,0

Ul JHlfehar § HiHd 3 SdE & -

Options:

a
&collegedumaa
India’s largest Student Review Platform

S



5, W
51550513848, S SR THIAfcSEIES

71550513849, SdC15® 3F AR Udefesggs

i W -
71550513850, F4C1¢ 3R THifew s

Question Number : 76 Question Id : 7155054387 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the following reaction

g
) K/I\ ‘A’ (Major Product)
Br I[u ) H,O

P

Als
Options:

OH

71550513851.

71550513852. OH Br

71550513853.
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MgBr
OH

MgBr
71550513854. OH

Question Number : 76 Question Id : 7155054387 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g i 0§ A B:
(1) Mg
—‘:r ‘A’ (Major Product)
I_I:}O
Options:
OH
71550513851,
O
71550513852. OH Br
71550513853.
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"M gBr
OH

MgBr
71550513854. OH

Question Number : 77 Question Id : 7155054388 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

0
I

Me — C M OEt
5 —CHS- = A

] 3 major Produ
O jor Product
A 1n the above reaction 1s;
Options :
O O
|| ]
i WS Y Y WC_CH3
. =CH — C
| |
/71550513855, Me O
0
O |
] — 15
e Ll g l
C=2C P
| c —CH;
Me |
71550513856. O
71550513857.
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0
i CH,
Me
0
71550513858.

Question Number : 77 Question Id : 7155054388 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0
I

Me —C N T OEt”
C —CH, = ‘A

] N major Product
O najor Product
Sulad HUfPaT T A B:
Options:
O O
| |
h-ie—f:w ME_C'HE
C=CH— C
| |
71550513855. Me O
O
’:’ £ cH,

1
Me — € |
R ¢ ™
| c — CHx
Me |
/1550513856. O

Me

& cH,

3

71550513857.
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@
71550513858.

Question Number : 78 Question Id : 7155054389 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The major product "P' formed in the following sequence of reactions 1s

OH
' ——= 'P" (Major Product)

(n) R-NH,

(1) LiAIH,

(v) HyO"
Options:

H
+N—-—R
S (
O

/7/1550513859.
/71550513860.
/1550513861.

]
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71550513862.

Question Number : 78 Question Id : 7155054389 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fufcbarsiie 9 %0 4 Afd g1 3dE P &

(OH
| ™ / (i) SOCL, s
& - > 1" (HE ddlq)
[IE! l{“‘NHi

(1) LiAlH,
(iv) 1,07

Options:

H

N=R

S 4
O

71550513859.
71550513860.
71550513861.
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Question Number : 79 Question Id : 7155054390 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The incorrect statement regarding the reaction given below 1s

Me— N —Me

+ 1'\I.fﬂ’*~102 + HX ——= B’

ﬁ-ﬂ}

Options:

The product 'B' formed 1n the above reaction 1s p-nitroso compound at low
71550513863, SEnperakuee

71550513864, 1he reaction occurs at low temperature
71550513865 1he electrophile mnvolved in the reaction 1s NO
71550513866 DB 18 N-nitroso ammonium compound

Question Number : 79 Question Id : 7155054390 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

a
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Instruction Time : 0




1 & g sifufhar & ey § ad YA B
Me— N —Me

+NaNO, + HX —> ‘B’

ﬂ-A’!‘

Options:

1550513863 SUYET HINfehar T & drguE W Fidd 3arg B p-Agc 4l Uiffle §

21550513864, HTUThTT [FF AT9HE U= 991ied gidl o

1550513865 HIMIHAT T YA Soae ®Wel, NO™

J1ec051386¢. B N-ATScidl SHiAgH it g

Question Number : 80 Question Id : 7155054391 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Examples) (T‘rp e)

. |2-chloro-1,3- butadien - '

Nvlon 2-ny lnn b "n.”IﬂhETlE Rubber
 C [Polyacrylonitrile 11 Polyester
D Dacon [ 1V [Addition Polme

Choose the correct answer from the options given below:

Options:
71550513867, A-LL. B-IV, C-1. D-III
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71550513868, A-ll, B-I, C-IV, D-III

71550513869, A-IV, B-I, C-III, D-II

71550513870. A-IV, B-III, C-I, D-II

Question Number : 80 Question Id : 7155054391 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

It 1 1 9 9l 11 & e

“

| -14. CTSl r| ﬁl—l-ﬁ‘ch ERGED
.f_—-ﬂliiﬂrlﬁ -emmrr TaR

E
1< ST U fadedl § T Iel IR I4:

Options:

71550513867. A-1l, B-1V, C-I, D-III

71550513868, A-1I. B-I, C-IV, D-III

71550513869, A-IV, B-1, C-III, D-II

71550513870, A-IV, B-III, C-I, D-II

Chemistry Section B
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Section Id :

Section Number :
Section type:
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default?:

715505270
6

Online
Mandatory
10

5

20

Yes

0

1
715505270
Yes

null

Question Number : 81 Question Id : 7155054392 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e

At 600K, the root mean square (rms) speed of gas X (molar mass = 40) 1s equal to the most probable speed of

oas Y at 90K, The molar mass of the pas Y 1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

o mol™ (Nearest integer)

Question Number : 81 Question Id : 7155054392 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Carrect Marke * A\WWrann Marke * 1
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600K TR, 719 X (HITR S04 = 40) B1 a¥1 H1e Jd 77 (rms) 90K W I Y P
faEHTeT TTfd & SRER § | T Y &1 Hiek SouH ¢ mol~! g | ([H@edH
quiish )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 7155054393 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Values of work tunction (W) tor a tew metals are given below

The number of metals which will show photoelectric effect when light of
wavelength 400nm falls on 1t 13

Given: h=6.6 x 107 J 5
c=3x%10%ms

e=16x107"C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

collegedunia:
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

D T Ug3 & S B (W,) @ 9 [GU T 6

3 YT 31 B GBSl 39 WR S aTd 400nm DI TG dlel b & 1Y
ehTRT fdggd WUTd WefRid Sl

AT AT h=6.6 x 10775
c=3x10°m s !

e=1.6x10"17C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 7155054394 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One mole of an 1deal gas at 350K 1s 1n a 2.0 L vessel of thermally conductng walls, which are in contact with
the surroundings. It undergoes 1sothermal reversible expansion trom 2.0L to 3.0L against a constant pressure

of 4 atm, The change 1n entropy of the surroundings (AS) 13 JK! (Nearest integer)

Given: R=8.314 K mol ™.
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

a
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10

Question Number : 83 Question Id : 7155054394 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

350K UR Tl 3f1exl 19 1 U HIT o SN GAld® (¢RI I 2.0 L & U & &
Sl IRAY & 9% | o %mmaa@a 19 U3 GHAM] Ich AU YO90] &

BRI 3TTc 2.0L ¥ 3.0L Bl 91l & | URaY &1 T ldl gikad (as)
1K 81 (Faveay guiie 1)

fear Targ: R =8.314 JK! mol!.

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 7155054395 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

80 mole percent of MgCl, 15 dissociated 1n aqueous solution. The vapour pressure of 1.0 molal aqueous

solution of MgCl, at 38°C 15 min Hg. (Nearest integer)
Given : Vapour pressure of water at 38°C 15 50 mm Hg
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 84 Question Id : 7155054395 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
MeCl, DI 80 Hid WdId Sieiid fdera § fagiford 81 38°C UR 1.0 Hidd MeCl,
ST g [T &1 9 gIdg mm He 8| (FMdead quife )

feT : 38°C U el &1 a1 He o |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 7155054396 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

An analyst wants to convert 1L HCI of pH =1 to a solution of HCI of pH 2. The
volume of water needed to do this dilution i1s mL. (Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 7155054396 Question Type : SA Calculator : None

a
gcollegedumaa
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrona Marks * 1




U fa%i¥® pH =1 % 1L HCl faaa= ¥ uRafdd S-1 9rgdi g 1 §9 adl & fag
MARGD o DT AT & mL. (FPedd quils H)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 7155054397 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The reaction ZNO + Bry, — 2ZNOBr

takes places through the mechanism given below:

NO + Br, & NOBr, (fast)
NOBr, + NO — 2ZNOBr (slow)

The overall order of the reaction 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 7155054397 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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HIHTHTT 2NO + Br, — 2NOBr
= €t 71q fopanfafes & ary wroifed gidt &

NO + Br, & NOBr, (fast)
NOBr, + NO — 2ZNOBr (slow)

HiyfepaT &1 Ha File ©;

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 7155054398 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Three organic compounds A, B and C were allowed to run in thin layer chromatography using hexane and

gave the followmg result (see figure), The Revalue of the most polar compound 1s <1074

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

10

Question Number : 87 Question Id : 7155054398 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A1 T -d TITE A, B U4 ¢ U9 Taell 1Rd dUIaE- W gde- &1 3991 PR 9elU U foFgid -5 gRom

3T (o &) | et g O@ RAM G x 107

5 em

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 7155054399 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) NH,C1/ KCN i Cone. HNO, —H,50,

(11) IIESO 4..-'11 2eq

H.C,0 CH,CHO

(1) (CH4C0O),0
(1) EtOI1, A

i) W.pdfc )

(iv) TINO,
v Nal  (GHNO)

The value of x i compound 'D' 15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 7155054399 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

/N 1) NH,C1/KCN Cone, HNO, —H,S0.

2 (i) 1,80,/ 2eq

(i) (CH;C0),0
(11) EtO11, A

iy W.P4C

30}
(v) HNO, .
(v) Nal (CHgNOI,)

gifiE D' 1 x T HE 6
Response Type : Numeric

Evaluation Required For SA : Yes

Chhawnnr\AMlAavel CAarlinmnde « VAc
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Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 7155054400 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In an olicopeptide named Alanylelyeylphenyl alanyl 1soleucine, the number of

#, . o .
sp” hybridised carbons 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

14

Question Number : 89 Question Id : 7155054400 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JAHarAEd WA AS A= AH® HACRIYPES H sp? TR
BIe- URHTU]3] &I TS B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 90 Question Id : 7155054401 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mass of NH; produced when 131.8 kg of cyclohexanecarbaldehyde undergoes

Tollen's test 1s kg. (Nearest Integer)

Molar Mass ot C = 12g/mol

N = 14¢/mol

O = 16g/mol
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 90 Question Id : 7155054401 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o 131.8 ke HIEdeIg oy DIaIcS8ISS cla- I <dl § di Sdliad NH; ®I

SogHH kg B | (Fpedn quife o)

AR SodHM:  C = 12g/mol

N = l4g/mol

O = 16g/mol
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :
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